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If a company’s business practice is controversial, but it pays very well. Will
you work in this company?

Task 1

Reading part Listening part

[RiEa] [ 2£/E 75 ): The woman agrees with
Notice: The university has a new | it.

policy that freshmen can only change | 1. Staff should finish tasks with
their dorms five weeks after the higher priority during the first 5
Task 2 semester begins weeks

Reason 1: university staff are very | 2. Students cannot focus on their
busy in the first 5 weeks study with so many move-ins and
Reason 2: no matter which dorm move-outs

they are in, they can get to know
more friends during the first 5 weeks.

Question: Explain the man’s opinion and why he holds that opinion.

Reading part Listening part
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Floral Robbing: when herbivores eat | Rocket flower's nectar is stored in a
the fruits of a plant without dispersing | very long tube. When a humming bird
the seeds for the plant. stick its long beak into the tube, the
pollen will be stuck to the beak, and
the humming bird will therefore
disperse the pollen. On the other
hand, bees will tear a hole at the
bottom of the flower and suck out the
nectar, so the pollen on the tube
wouldn’t be carried away.

Task 3

Question: FIWT 77 (4515 R A 5o 3% AR A 1) LA

Two difficulties in commercializing innovations.

1. Itll be very expensive. Since the company has put in a lot of time and
money, the product will be very expensive. For example, the electric car
uses battery rather than gasoline, and the battery is really expensive.

2. It's difficult to change the user’s habit. For example, if a customer drives
the electric car for a trip, he has to choose a route with recharge stations.

Task 4




